03 02 10

)
H27
34 Ic IC H30
IC ICH3O
Ic

13,120 13,120 0

H28 R2 R4
9,700  H8 10,475 K34 775

9700 10318 10475

H28 H28

H8 6,192 H34 220

5972 6045 6192

H28 H28

868  HB 938  H34 70

868 892 938

H28 H28

2,515  H28 2,547 H34 32

2515 2526 2547

H28 H28

-1




H30 |H31 [R02 [RO3 [RO4

A11-001 )389 L=1.10km [ A B A B | 4,150 [1.12
3.5km

A11-002 ) L=1.58km [ A B A B | 1,027

A11-003 ) L=1.78km [ A B A B | 700

A11-004 ) L=0.98km [ I 100

A11-005 ) L=1.80km [ A B A B | 671

A11-006 ) L=1.50km [ A B A B | 440




H30 |H31 [R02 [RO3 [RO4

A11-007 ) L=0.37km LI B 185
A11-008 ) L=0.76km L I B B BN 410
A11-009 ) L=0.63km LI B 387
A11-010 )266 L=0.34 u 60
A11-011 ) L=3.20km [ I B 700
A11-012 ) L=0.76km L I B B BN 120




H30 |H31 [R02 [RO3 [RO4

A11-013 ) L=0.30 L I B B BN 400
Al11-014 ) L=4_70km LI B 50
A11-015 ) L=3.00km LI B 30
A11-016 )266 L=890m "= 450
A11-017 )266 L=900m L I B B BN 450
A11-018 )266 L=1200m L I B B BN 350




H30 |H31 [R02 [RO3 [RO4

A11-019 ( )266 N=50 | n|m|m|m 150
N=2
A11-020 ( )389 14 L=0.8k | n|m|m|m 450
A11-021 L=1.0 | |m|m 80
A11-022 | | | | | | | 387 L=0.4 | | . | . | | 60|
A11-023 ) L=1.83 [ 723
A11-024 ) 1=0.40 = | = 277
A11-025 ) L=1.70 [ 700




H30 |H31 [R02 [RO3 [RO4




H30 H31 RO2
@) 958 928 811

() 77 0 45

(c=a+h) 1,035 928 856
(D 0 824 653

e) 211 1,099 866

® 824 653 643

109 46 39

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 10.53 2.62 2.58
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